ECHNICAL INFORMATION

'Il! !, A!! ”,!

PRODUCT

\[Lels[SEN[OR) B> 6824N, 6824NTP
» Drywall Screwdrivers

CONCEPTI ON AND MAIN APPLICATIONS
Mod.6824N and 6824NTP have been devel oped
as anew version of 6824 series model.
Their feature is "Normal Clutch" which is convenient for

unscrewing.

6824NTP is equipped with 15m (50ft) three-wire cord

with twist plug.

P1/8

Dimensions: mm (")

Length (L) | 290 (11-3/8)
Height (H) | 218 (8-5/8)
» Specification Width (W) | 70(2-3/4)
Voltage (V) Current (A) Cydle (H2) | r%‘trt‘“ nuous Ret rgu(t\[/)\gt Max. Output(W)
120 6.5 50/ 60 (710) 340 590
Model No. 6824N | 6824NTP
Rated ampere with 120V : A 6.5
No load speed : min -1=rpm 0- 4,500
Driving shank 6.35mm (1/4") hex
Capacity : mm (") Self drilling screw 6 (1/4)
Drywall screw 5(3/16)
Variable switch Yes
Reverse switch Yes
Protection from electric shock by double insulation by grounding
Cord length : m (ft) 25(8.2) 15 (50)
Net weight : Kg (Ibs) 1.4(3.1)
» Standard equipment
*Philipshit 2-25 .o 1 pc.
* Magnetic socket bit 6.35-76 ...........cc....... 1pc.

< Note 1> The above mentioned items are installed in advance in our fabric.

< Note 2> The standard egquipment for the tool shown may differ from country to country.

» Optional accessories

* Philipsbit 1 - 25
* Philipsbit 2 - 25
* Philipsbit 3 - 25

* Magnetic connect bit 6.35-60
* Adjust sleeve complete for magnetic connect bit 6.35-76



< 1> Lubrication

Apply MAKITA grease N. No.1 to the following portions marked with black triangle to protect
parts and product from unusual abrasion.

Item No. Parts. The portion to be lubricated
7 Gear housing complete | approx. 49 (0.14 0z) to the space for helical gear 43
1 |spnae e e ho e
12 Compression spring 12 |  Itswhole part
13 Collared pin 8 Its whole part
14 Helical gear 43 Teeth portion

Gear housing cover

< Note > Do not apply greasein this ace where
armature's gear rotates.

< 2> Removing armature, ball bearing 608VV and ball bearing 607LLB
(1) Remove handle cover by unscrewing 3 pcs. of tapping screws 4x25. And then, take off carbon brushes. See Fig. 1.
(2) Model 6824N: Remove gear section (locator, lock ring, gear housing complete and gear housing cover) from motor

housing by unscrewing 3 pcs. of tapping screws 4x25. Then, armature can be separated from motor
housing together with gear section See Fig. 2.

Model 6824NT: Pull out gear section approx. 10mm from motor housing. Disconnect grounding lead wire's

terminal by unscrewing pan head screw M4x8. Remove in the same way as model 6824N.
See Fig. 3.
L ocator

Lock ring

Tapping
screws 4x25

Gear housing
< complete

Gear housing

Tapping

Handle cover

Tapping

screws 4x25 Gear housing complete

___— Pan head screw M4x8
Grounding lead wire's

Gear housing cover



> Repair P3/8

(3) After separating armature from gear housing cover, remove rubber ring 19.
And then, remove ball bearing 607LLB with 1R269 "Bearing extractor”, and insulation washer. SeeFig. 4.

Gear housing
cover

}

(IO

1R269
Bearing extractor

\

<

=2
i‘\

Insulation washer

Ball bearing [
607LLB

Rubber ring 19 ]3:

(4) Remove ball bearing 608VV and ring 8 at atime with 1R269 "Bearing extractor".
Remove flat washer 8. SeeFig. 5.

}

(I

Flat washer 8

/é‘\ \

@

P—
D) <[

=G

\\
&
L=

7 N\

608VV

< 3> Mounting armature, ball bearing 608VV and ball bearing 607LLB

(1) Mount flat washer 8. And mount ball bearing 608VV with arbor press, andring 8. See Fig. 6.
(2) Mount insulation washer. And mount ball bearing 607LLB with arbor pres, and rubber ring 19. SeeFig. 7.

Flat washer 8 i Insulation Rubber
¢ * Ring 8 washer ring 19

[ Ball bearing

608VV
607LLB

plate




> Repair P4/8

(3) Mount the armature to gear housing cover. SeeFig. 8.
(4) Model 6824N: Mount the gear housing cover to gear housing. And fasten it with 3 pcs. of tapping screw 4x25.
SeeFig. 9.
Model 6824NTP: Fasten grounding wire's terminal to gear housing cover with pan head screw M4x8.
Mount the gear housing cover to gear housing. And fasten it with 3 pcs. of tapping screw 4x25.

See Fig.9A.
(5) Mount carbon brushes. And then, mount handle cover. Fasten it with 3 pcs. of taping screws 4x25. See Fig. 10.
Tapping
Gear housing screws 4x25

L ocator
Lock ring

Gear housing : < ™~
complete . ' Carbon

Gear housing

Tapping
screws 4x25

L ocator
Lock ring

Pan head
/ screw M4x8

Tapping
screws 4x25

Gear housing /% wire'sterminal
complete

Gear housing
cover



> Repair P5/8

< 4 > Removing clutch section

(1) Removelocator and lock ring from gear housing. And remove gear housing complete by unscrewing 3 pcs.
of tapping screws 4x25. SeeFig. 11.

(2) Separate clutch section by pushing it from locator side to motor side. And take off ring 20. See Fig. 12.
Clutch section can be disassembled asillustrated in Fig. 12A.

Tappin i
L ocator apping R|ng 20 Splndle

screws 4x25
Compression
Lo Clutch spring 12
S&h 77 77> | Sctio %/ Washer 824
N x / (etiy \ (Thick)

NG

Collard pin 8
Helical gear 43
Thrust needle
gauge 821

Washer 821
(Thin)
Fig. 1 Fig. 12A

Gear housing
complete

Q
N

< 5> Mounting clutch section
(1) Mount the partsto spindle in the order of compression spring 12, collared pin 8, helical gear 43, washer 824
(thick one), thrust needle gauge 821, and washer 821 (thin one). SeeFig. 12A.
(2) Mount ring 20 and the assembled clutch section to gear housing complete. See Fig. 13.
(3) Mount gear housing complete to motor housing, and fasten it with tapping screws 4x24. See Fig. 14.
And then, mount lock ring and locator to gear housing complete. Refer to Fig. 11.

Clutch  Helica ;af;gix s
section  gear 43
o
\\N @%\
7=
N7
= >
Ring 20 Gear housing
complete
Ring 20 Helical
gear 43 side
Ring 20 hasto be so mounted that its
grooved portion isfaced to helical -Fig. 14
gear 43 side asillustrated above.
Fig. 13




< 6 > Replacing carbon brush
(1) Remove handle cover by unscrewing 3 pcs. of tapping screws 4x25. And then, take off carbon brushes.
SeeFig. 1 at page 2.
(2) Make sure that brush holders have been mounted to motor housing correctly asillustrated in Fig. 15.
If brush holders are mounted asillustrated in Fig. 15A, correct with your finger to mount properly.

Top view

Top view of motor housing and brush holders

Brush holders Brush holders

il

Carbon brushes Carbon brushes



> Circuit diagram

P7/8
Color index of lead wires Brush
Black Brush holder ~ Connect to gear housing cover.
White — holder Field
Orange [\ -
Pur p| e (©10101010101010i0100)
Green

xxxxx

(001000 ¢

e aevaseva=e(0)

Terminal
—l(z) @~ block
D switch (3D
DIEDIMDICEIED)

Noise
suppressor

oo @ @




- Wiring diagram pP8/8

Fix Grounding lead wire (green)

with lead holders.
Put connecting lead wire (black) of

N field, into lead holder.

Put lead wire (black)
connecting switch
and field, into lead
holder.

) Into this lead holder,
put the following lead wires.
Put brush holders lead wire * Connecting lead wire (black) of field

(orange), into lead holder. =7 ] * Brush holder's lead wire (purple)
\ H ; // Into this lead holder,
/

’V‘/ S put the following lead wires.
Put the slack portion of ] 3H * Connecting lead wire (black) of field
lead wires in the spaces. * Connecting lead wire (white) between
switch and field

Put noise suppressor in
this space, if it isused. |

Put grounding lead wire (green)
into lead holders.

And be careful, not to put lead wire
on therib for setting terminal block.

@ @

O—®






